Question 3
Hank, an avid skier, lived in State X with his daughter, Ann. Hank’s first wife, Ann’s mother,
had died several years earlier.

In 1996, Hank married Wanda, his second wife. Thereafter, while still domiciled in State
X, Hank executed a will that established a trust and left “five percent of my estate to
Trustee, to be paid in approximately equal installments over the ten years following my
death to the person who went skiing with me most often during the 12 months preceding
my death.” The will did not name a trustee. The will left all of the rest of Hank’s estate to
Wanda if she survived him. The will did not mention Ann. Wanda was one of two
witnesses to the will. Under the law of State X, a will withessed by a beneficiary is invalid.

In 1998, Hank and his family moved permanently to California. Hank then legally adopted
Carl, Wanda’s minor son by a prior marriage.

In 2001, Hank completely gave up skiing because of a serious injury to his leg and took up
fishing instead. He went on numerous fishing trips over the next two years with a fellow
avid fisherman, Fred.

In 2003, Hank died.
In probate proceedings, Wanda claims Hank’s entire estate under the will; Ann and Carl
each claim he or she is entitled to an intestate share of the estate; and Fred claims that
the court should apply the doctrine of cy pres to make him the beneficiary of the trust.
1. Under California law, how should the court rule on:

a. Wanda’s claim? Discuss.

b. Ann’s claim? Discuss.

c. Carl’s claim? Discuss.

2. How should the court rule on Fred’s claim? Discuss.
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Answer A to Question 3

3)

1. UNDER CALIFORNIA LAW, THE COURT’S RULING ON:

A. WANDA'’S CLAIM

Wanda will argue that the will is valid and she is therefore entitled to at least 95%
of Hank’s estate, as described under the will.

1. Validity of the Will

a. Choice of Law

In order to determine whether the will is valid, it must first be decided what law will
apply. The facts state that Hank dies while living in California. A will will be valid if it is
valid in the state in which it was executed, the state in which the testator was domiciled at
the time of execution, or the state in which the testator died. The will was executed in
State X, and while Hank was domiciled in State X. Although the facts state the will would
be invalid in State X, it is not necessarily invalid in California, the state in which Hank was
living at the time of his death. The following is a discussion of the will’s validity in
California.

b. Requirements for an Attested Will

Under California law, for an attested will to be valid, it must be signed by the testator
in the presence of two disinterested witnesses. An interested witness is one who is a
beneficiary under the will. If a witness is “interested”, the entire will is not invalid, but there
is a presumption that the portion which the interested witnessed[sic] received is invalid.

Under the facts of this case, Wanda was to receive 95% of the estate. In addition,
she was one of two witnesses to the will. Therefore, there is a presumption that the portion
left to her is invalid. If Wanda cannot overcome this presumption, she will not be left with
nothing; rather, she will still be entitled to her intestate portion under the will.

C. Wanda’s Intestate Portion

Under intestacy, a spouse is entitled to receive all community property, and at least
1/3 and up to all of her deceased spouse’s separate property, depending on whether or not
the decedent left any surviving kin. In the present case, Hank left Ann and Carl. Where
two children are left, the testator’s estate is divided in 1/3 portions among the spouse and
the two children. Therefore, Wanda will obtain 1/3 of Hank’s remaining estate.
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B. ANN'S CLAIM

1. Omitted Child

Ann will argue that she was an omitted child and, in the event the will is found valid
in its entirety, other interests should abate and she should receive an intestate portion of
Hank’s estate. However, Ann will be unsuccessful in this argument because Ann was alive
and known about prior to Hank’s execution of the will, and she was not provided for on the
will.

2. Intestate Portion

Ann will therefore argue that the aforementioned devise to Wandais invalid and that
she is in this way entitled to her intestate portion of the remaining interest. As discussed
above, Ann will be entitled to 1/3 of Hank’s estate through intestacy.

C. CARL'S CLAIM

1. Pretermitted Child

Carl will first argue that he was a pretermitted child, as he was adopted after the will
was executed. Therefore, he will argue that, if the devise to Wanda is valid, her interests
should abate to account for his intestate portion. However, the fact that Ann was excluded
from the will harm Carl’s interest, as this will evidence as intent not to devise any portion
of his estate to his children.

2. Intestacy & Adopted Children

Therefore, Carl will argue that the devise to Wanda is invalid and that he should be
entitled to a portion of the remainder of the estate through intestacy. The fact that Carl is
adopted and not a child by Hank’s blood will not affect Carl’s portion because under
California law, adopted children are treated the same in intestacy as children by blood.

2. COURT’S RULING ON FRED’S CLAIM

Hank’s Will also included a trust. This is called a pour-over will. |In order for the
pour-over will to be valid, it must meet the requirements of a valid trust.

A. Validity of the Trust

1. Requirements

In order for a trust to be valid, it must have 1) an ascertainable beneficiary, 2) a
settlor, 3) a trustee, 4) a valid trust purpose, 5) intent to create a trust, 6) trust property
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(res), and 7) be delivered.
2. Lack of Trustee

The facts state that the trust lac[k]ed a trustee. The lack of a trustee, however, is
not fatal, as a court can appoint a trustee to administer the trust.

3. Trust Property

The trust property is clearly identified in the will, as “five percent of my estate...to be
paid in approximately equal installments over the 10 years following my death...”
Therefore, this requirement is satisfied.

4. Delivery
The delivery requirement is met through the inclusion of the trust into Hank’s will.
5. Unascertainable Beneficiary

The fact that the beneficiary is not named poses the biggest problem for the trust.
In order for the trust to be valid, a beneficiary must be ascertainable. In the present case,
the beneficiary is not named, but rather is described as “the person who went skiing with
me most often during the 12 months preceding my death.” Courts can use a variety of
methods to ascertain the identity of a beneficiary when he or she is not specifically named
on a will, such as: Incorporation by Reference or Facts of Independent Significance.
Neither one of these are helpful in the present case.

Incorporation by reference allows a testator to incorporate into a will a document or
writing if it is in existence at the time of the will, a clearidentification is made, and the intent
to incorporate is present. In the present case, the identity of beneficiary was not presently
in existence. Therefore, this method fails to assist in ascertaining the beneficiary.

Facts of independent significance can also be used to incorporate outside items into
a will. Although the identity of the person most frequently skiing with Hank would have
independent significance, it is of little help here since Hank suffered a serious injury to his
leg and thus gave up skiing. Therefore, this method also fails to assist in ascertaining the
identity of a beneficiary.

When there is no ascertainable beneficiary, a resulting trust occurs. This means
that the trust property returns to the settler’s estate.

5. Cy Pres

Fred, however, will argue that under the doctrine of cy pres, the property should not

25



be returned to the settlor’s estate, but should go to him instead.

Cy pres is a doctrine which provides that, where a charitable trust fails for lack of a
beneficiary or other impracticality, the court should apply cy pres and grant the trust
property to another charity which conforms with the trust purpose.

In the present case, Fred will argue that the purpose of the trust was to further
leisurely sports and camaraderie. Fred will compare fishing with skiing, and argue that the
two activities were similar in that they provided the opportunity for friends to come together
and enjoy each other. Therefore, because it [sic] the two purposes are so similar, and
because Fred went on numerous fishing trips with Hank, Fred will argue that he should be
entitled to the trust property.

However, in order for cy pres to apply, the purpose of the trust must be charitable.
Under the Statute of Elizabeth or the common law, this trust purpose, however Fred
defines it, is not charitable. It does not alleviate hunger, help sick, further education, or
health. Therefore, the doctrine of cy pres is inapplicable, and a resulting trust will occur.
Therefore, the 5% will retain to Hank’s estate and be divided among Wanda, Ann, and Carl
accordingly.

Therefore, Fred will get nothing, and Wanda, Ann, and Carl will each get 1/3 of
Hank’s separate estate, and Wanda will get all of her and Hank’s community property.
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Answer B to Question 3

3)

1. Under California law, how should the court rule on:

a. Wanda

Wanda (W) claims that she is entitled to Hank (H)'s entire estate under the will. In
order to make that claim, the will must first be proved to be valid.

Valid Will?

Choice of Law

The will was executed in State X, and under State X’s laws the will would be invalid
because a will witnessed by a beneficiary is invalid. W, as a beneficiary receiving the
residue of H’s estate, was one of the withesses, and therefore the will would be invalid
under the laws of State X.

However, the parties moved and became domiciled in California. Under California
law, a will is valid if it complies with the statute of the place where the the will was
executed, where the decedent was domiciled when the will was executed, or in compliance
with the statute of the jurisdiction where the decedent was domiciled when he died.

Here, while the will is not valid under State X’s laws, H was domiciled in California
when he died. If the will is valid under California laws, then the will is valid and will be
probated. A formally attested will to be valid in California must be in writing, signed by the
testator or a third party at his or her direction, in the presence of two witnesses, and the
witnesses understand what the testator is signing is his or her will.

Here, the will is valid under California law. First, the will is in writing, and it was
executed by H. Further, two witnesses signed the will (but please see “interested witness”
below), thus meeting that requirfe]ment. Presuming that the witnesses understood that
what H was signing was his will, then California will formalities have been complied with.

Interested Witness

It is important to note that California does not invalidate a will because one of the
witnesses is a beneficiary under the will. A witness is interested if the witness will directly
or indirectly benefit from the will. If there is a necessary interested witness, California
validates the will, but there is a presumption that improper means were used by the
interested witness to obtain the gift. A witness is necessary if without her there is only one
other witness. If the interested witness overcome(sic] the presumption, she will take under
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the will. If, however, the presumption cannot be overcome, then she will only get to take
her intestate share of the estate, and no more.

Here, W was an interested witness because she is taking under the will. Further,
W was necessary to make the will valid because without her signature, there was only one
other witness. Therefore, a presumption of improper influence arises. However, W should
be able to easily overcome this presumption. W, being the wife of H, is a natural object of
H’s bounty. Common sense would dictate that W would receive a substantial share of H's
estate. If W can provide some evidence that they had a good relationship, and that he had
told her she would get a good share of her estate, that should be enough to overcome the
presumption.

Intestate Share

Even if W is unable to overcome the presumption, W is entitled only to her intestate
share. However, W’s intestate share would be a sizeable share. W would be entitled to
H’s 72 of the community property and quasi-community property. Community property is
that property acquired during marriage while the parties were domiciled in California. Here,
this would include all the property acquired through the earnings of H and W and the rents,
issues, and profits therefrom, since 1998 when the parties were domiciled in California
through H’s death in 2003.

W would also be entitled to V2 of the quasi-community property. Quasi-community
property is property that was acquired while the parties were domiciled elsewhere that
would have been community property had the parties been domiciled in California.
Therefore, all property acquired during the marriage between 1996 and 1998 would be
quasi-community property. Upon the acquiring spouse’s death, that property would go to
the surviving spouse. Because W would already own 72 of the community and quasi-
community property, W would end up with all of the community and quasi-community
property at the end.

Regarding H’s separate property (sp), H has the power to dispose of all of his
separate property as he sees fit. However, W, as H’s surviving spouse, would be entitled
to an intestate share of H's separate property if she cannot overcome the presumption.
In California, if the decedent dies without any issue, then the sp goes all to the surviving
spouse. If he dies with one issue or parents or issue of parents, then the surviving spouse
gets ¥z of H’s sp. If the spouse dies with two or more issue (or issue of a predeceased
issue), then the surviving spouse gets 1/3 of H's sp.

Here, H died with two issue surviving- Ann and Carl. Therefore, W’s intestate share
of H’s sp would be 1/3 of all separate property.

Therefore, even if W is unable to overcome the presumption of improper influence,
she still will be able to obtain quite a bit of property because of the intestate succession
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laws.

In Other Claims

F’s claim will be discussed below, as well as C’s and A’s claim. This is just to note
that if all of these three claims fail, then W will take the entire estate of H, both sp and cp.
However, if any of these claims do not fail, then W will not get to take the entire estate
because the claimant will be entitled to whatever stake his or her claim had.

b. Ann’s Claim

A’s claim will be based on California’s pretermitted child statute. A, a child of H, was
left out of H’s will. Under the pretermitted child statute, a child that is born or adopted after
the will or codicil is executed, and is not mentioned in the will, will be able to receive an
intestate share of the decedent’s estate, unless the decedent made it clear in the will that
a pretermitted child will not inherit, the child is being supported outside of the will, or the
decedent has another child and leaves all or substantially all of his estate with the parent
of that child.

Here, A’s claim will fail because she was alive when H executed his will, and H did
not include her in the will. The only exceptions to this rule are if the decedent thought the
child is dead or did not know the child existed. Neither of these two are applicable here.
H and A lived together in State X, so it is clear that H knew of A and did not think she was
dead. A’s claim for an intestate share will fail because she was not a pretermitted child.

c. Carl’'s Claim

C’s claim will also be on the pretermitted child statute. Please see immediately
above for a discussion on the statute. Here, C was a pretermitted child because he was
adopted after H's will was executed. For an adopted child the time is when the child is
adopted, not when the child was born. Therefore, unless one of the three exceptions
applies, C will receive an intestate share.

First, there is nothing in the facts indicating that the H’s will says he won’t take.
Second, there is nothing demonstrating that C is provided for outside of the will.

However, H does have one child surviving (A), and all or substantially all of the
assets are being given to the parent of C, W. Under the third exception, C will not be able
to receive an intestate share. C may argue that A is not a child of W. However, the statute
says that if the decedent has one child, and the assets are given to the parent of the child
claiming, then the exception applies. Here, because those two requirements are met, C
will not be entitled to an intestate share. Note that if the statute said the other child living
had to be the child of the parent receiving the assets, then the exception would not apply
and C would receive an intestate share.
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2. Fred’s Claim

Fred (F)’s claim depends on whether there was a valid private express trust, and if
so, whether the doctrine of cy pres even applies to this trust.

Valid Trust

A trust must have trust property, a trustee, beneficiaries, manifestation of intent by
the testatory, creation, and a legal purpose.

Property

First, there is trust property because the will says the property will be 5% of H's
estate.

Trustee

Second, there is no trustee named. While a trust must have a trustee, a trust will
not fail for want of a trustee. Therefore, a court will appoint someone to be the trustee.

Beneficiary

Third, there is an issue as to whether there is a definite and ascertainable
beneficiary. In a private express trust, there must be a definite and ascertainable
beneficiary. From the face of the will, there is no beneficiary, and so this may be a problem
for F. F will want to resort to other methods to prove it was him.

Integration nor incorporation by reference will not work because both require a
writing or document, and there is no writing or document here.

However, F may be able to prove himself under the doctrine of facts of independent
significance. The question here is: Would this fact have any independent significance
other than the effect on the will? If the answer is yes, then parol evidence may be
introduced and that fact will become part of the will. Here, F can make a good argument
that whoever is fishing (or skiing) with H the most before his death is a fact that has
independent significance outside the will. H will be fishing (or skiing) with this person
because they like each other's company, a fact that is significant outside the will.
Therefore, F should be allowed to introduce evidence that he was the beneficiary under
this doctrine.

But note- if F is not really the beneficiary because he does not meet this
requirement, then this trust will fail for lack of beneficiary (please see below, towards the
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end).

Manifestation of Intent by Settlor

H, the settlor, clearly had the present intent to create a trust when he executed his
will. The terms of the will, using words of direction directing the trustee to pay the
beneficiary. Thus, there is sufficient intent.

Creation

A trust may be created either inter vivos or testamentary. A testamentary trust is
a trust that is contained in a will. In order for a testamentary trust to be valid, the will must
have been executed with the proper formalities.

Here, H has created a testamentary trust by placing the trust in the will to take effect
upon H’s death. As discussed above, the will was properly executed under California’s will
statute. Therefore, there was sufficient creation.

Legal Purpose

A trust must serve a lawful purpose. Here, there is a lawful purpose in giving a
beneficiary an installment of money over a period of ten years. Nothing in this trust is
unlawful.

Therefore, all of the requirements for a trust have been met and there is a valid
trust.

Cy Prels]?

The trust’s terms specially said that the payments would go to whoever was skiing
with H the most during the last 12 months of his life. F fished with H the most during the
last 12 months of H's life, and now seeks to have the doctrine of cy pre[s] apply.

The doctrine of cy pres applies to charitable trust, when the settlor had a general
charitable intent, but the mechanism for expressing the intent has been frustrated. If this
is the case, the court will order a new mechanism to express the settlor's charitable intent.

Charitable Trust?

A charitable trust is a trust created for the benefit of society, for such purposes as
education, the arts, etc. Itis very similar to a private express trust (requiring trust property,
a trustee, a beneficiary, manifestation of intent, creation, and lawful purpose), but has two
significant differences: first, the beneficiaries must be unascertainable, ie, a large class,
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because the “real” beneficiary is considered the public. Second, cy pres only applies to
charitable trusts, notto private express trusts. Note also that the Rule Against Perpetuities
does not apply to a charitable trust either.

Here, the trust created is not a charitable trust for several reasons.

First, there was no general charitable intent. Nothing in the trust was to benefit
education, etc. This lack of charitable intent is shown by the fact that the beneficiaries are
not a large class. Rather, the beneficiary is one person. Therefore, this is too
ascertainable to be a charitable trust.

Because this is not a charitable trust, the doctrine of cy pres will NOT apply because
the doctrine does not apply to private express trusts. F will not get to share in the estate.

Trust Fails For Lack of Beneficiary

This trust will now fail for lack of a beneficiary. F does not meet the terms of the
trust, and neither does anyone else. Therefore, there is no beneficiary. When a trust fails
for lack of beneficiary, a resulting trust in favor of the settlor or settlor’s heirs occurs. A
resulting trust is an implied in fact trust based on the presumed intent of the parties.
Therefore, the 5% of the estate will result back to H's heirs- which is only W under the will.
W therefore, will end up taking H’s entire estate under the fact pattern presented in this
question.
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